THL WNM® B AL

ot BEE R

| n

YBF3 RII X BRIEE=HE LB
(Ex db | Mb)
(HES 80~355)

YBF3 Series Flameproof Asynchronous
Motor for Fan
(Ex db | Mb)

L ( Frame Size 80~355) J
& B % BB B

Operation Manual

ZRIEEEINROBRAE

Anhui Wannan Electric Machine Co.,Ltd



OB EEN . R b AL
FEME BB Z AT, E AT, DUERIER B 68 R A4

1 P iR

YBF3 ZR 51 ML Bk A =40 525 s sh il (HLIEE'S 80 ~ 355) o F4 M GB/T3836. 1-2021 (HEKEME:IA
Bis 1 &7y @R ) 1 GB/T 3836. 2-2021 CHRAEVEINEL 58 2 #i7r: HiRRERAbSE “d” fRIPHI IR
MR, R BREE AL BiRAR &N Ex dbl Mb. EHF &G B RS AMET H T CERIE TAER)
EE % E (Bx db T Mb) , fENRWLIENF1i 4.

PATFRAE: JB/T 7565.5-2015 (RALRA =AH S B AN AR KM 56 5 340 YBF3 R4 XHLH K
B =R BNl (HLES 63 ~ 355) )  MT451-2011 (HER™ I BE RBUIC & = A St 2 B sh Wl 22 4 1tk
REIE FHHORFIVE) A1 GB 18613-2020 Hr /N = AH 5720 M Bl AL AE A% PR 52 (B XX BERLAE 1) -

2 FmBSKEWR
ETIRIEES- S8
Y BE 3—132 82 —2

{———Wﬁ

BUBE KREAR S CHRLBLEESE Rl K D)
FUE s

U

AL

R

55 L

3 BITEREMH

3.1 gk AEE 1000m,

3.2 WA SIRER AL, Him Al 35°C, ®IkA -15C.

3.3 PREEAR AR AN I B AR 90% (i 25°CHY) o

3.4 3kW K LR HL B0 ML AT E B IR A 380V, 660V; 3kW LA b % 5E HL K A 380V, 660V, 1140V,
380/660V. 660/1140V.

3.5 HLZHHL 3kW K LA RN Y 45235 3kW DL BB Sl R LA HLON ARV, LKA 380/660V I,
380V AAREE. 660V A Y $:k, HHLE N 660/1140V I, 660V NAHEL. 1140V A Y $29k.

3.6 HEMAN 50Hz.

3.7 HBIMLI E B LOES: TR (S1) AFEUERESL EH, Vs,




3.8 BN F 4%, ©FHRAMETE CEELZE) % 80K % (Hrh 315 #i43 MiA& Al 355 Kl
JHE 4= R SO VR 4% 105K EH%)

4 BN EEMRBELTESEELR
4.1 AN S 5 338 S TR P65 /R LR 1
4.2 B SR Je 22 35 208 TMB3 . IMB30. IMB35

x1

[l 2 # # r/min

Bl 5 3000 1500 | 1000 | 750 600
I Z kW
8OM1 0.75 0.55 0.37 0.18
80M2 1.1 0.75 0.55 0.25
90S 1.5 1.1 0.75 0.37
90L 2.2 1.5 1.1 0.55
100L1 2.2 0.75
3 1.5
10012 3 1.1
112M 4 4 2.2 1.5
13251 5.5
13252 7.5 00 3 2.2
132M1 4
132M2 B 7o 5.5 s
160M1 11 4 -
11 7.5
160M2 15 5.5
160L 18.5 15 11 7.5
180M 22 18.5 - -
180L - 22 15 11
200L1 30 18.5
200L2 37 30 22 1
2255 - 37 - 18.5
225M 45 415 30 22
250M 55 55 37 30
280S 75 75 45 37
280M 90 90 55 45
315S 110 110 75 55 45
315M 132 132 90 75 55
315L1 160 160 110 90 75
315L2 200 200 132 110 90
35551 (185) (185)
35552 (200) (200) 160 192 (90)
355M1 (220) (220) (185) 160 110
355M2 250 250 200 132
355L1 (280) (280) (220) (185) 160
35512 315 315 250 200 (185)

E: 1HFE SR ATREENE.
2SMLEEBETF 1.2 FRRRFA—YESHEETARBHE.




5 FEL&H

5.1 BN IR A G AL T B HLTIES, R = EoN S 7. EH THRERSSH, WB—
MM T, JFEETE SRR (M6 LU B (M8 UL 1D kM. fERA d i 5k
i Ik AN <07 B

5. 2 FLBIHLEE B e TR R V7 BB IR AR AP

5.3 HENHLHLIEE S 80 ~ 225 (Al ACR % £ 47K, HLMES 250 & UL LB E 7 AMEHLE.
THIZRE B o

5.4 NN EARE WA 1. L mas i LI 2.

6 MRER
6. L ARSI BIHLONRRERY 35 BB HL P I8 A AT R 2 AR IR S MR, R R AL B LA 5 A B

AR B A R R AR PR RE RO AR T s A BT AR KA A S0 VR Il o F ML) o e 5 T S ES A M B AR EVE IR 540
HIRRIE -

6.2 FBE M AN SO CInpLPE . S BRI G, P40, 2R, BARE. BAGMHE) ,
KN TG 2046 120 1. OMpa , BB [A) Ky 10S+2 (RS, WA &H# .

6.3 MBI G MK, (HFR. RITHKEE . BAGNHMRE SR E. HESRSEEIITZ
[ 8 LD 2 5% T R B 8 2415 GB/T3836. 3 HIFILZE

6. 4 BEHE PR IR 5T IR AR 2 R A TS IR, 7k AT AR M .

6.5 HLPE. b FlZR N 5 SFARAE . AR M . ARG  HRR G HERIBAE | Ui T B (BN |
i MR P R AR T A

6.6 FEHUE LIRS T, WA ERIRE, By HARBE +130°C, (B4 85 HERLE P
RIHN, AHEE +150°C . HELE AN AT = T FH R R VPR .

s b AN, b R

malegiE | B, EA MR ARR R
T R TR ey AU, — B R

7.1 RERHEE

L1 AP E NIRRT R L AR LS A A 2 5 SRR R SR AR AT
L2 HENLRE AR S PIIBRE IR S .

1.3 BRIRANGE & T R, RE RS .

L4 P BRI O A N TI 2ESU R i R R 1 R PR BRI

L5 UM &G A A HANLE T oA A5 B H M AME T 20 MQ .

~N N =9 =




EE!
B RAR TR IAE®., AR Y, BEARA, HOHEELHAA |
Rk A AR g

Skl IR & IR R XS % N 95
R ELR R 1D 2 A% 30 -
R AL At o 5 48 A Bl K AL Al v s BE R KR — B
bR bRl S TV VA i N 1 8
B AL FER LG (LSS ) AEA. .
RLAE AR 2 o S B 0 FLAR A A ] R BN ELAR 9 D1, BOR AR 9 D5, %5 5 [ 4
JONEIE XH-21, Uk B RT A& 2 CRTR R 51N i AME KN R LB H B F LD . BEdBEREAN
KT Tmm, SRR, SNAORUET 3 Pl 5 A 40 ) % % 3 Bl 5 3 Ak s 2 TRV T ) B, 75 TUDKE 2R 2%
el FE L RE

7.2.7 SINMHRGUS L ERAE I 5 BB B 2 18], RCO RN RN EESR I, 51 N B2 FLIN 32 B 1k
2ot SIN BRI IR RN 5 T Bl [ K [, B E &l

7.2.8 N TR G R O, FIEN PR SRR (LRSS AN o WA
PINIER O IR L &, U5 RO RGN ML O, 55— ML OrnEREAGERE, &
VUPRE 2 25 BT T RE

7.2.9 HZHHLEARFF U Vo W USSP HRJEAT AL By CAIXS R,  HLBNHLES 15 M Ak i m L 2 O
WS Bt 7 A5 0 R SR B

7.2.10 HLBOHLA . Sh IR R TR FE SR .

7.2.11 HEIPLIEEL, SREFHINLR)E, TEEREE T EEIsE, JPREEaNA LR
WILR, fra e B% el SN 30817

S O R W DN

= 5
1. R\ R EIRERTHREEEN 95% ~ 105%,
&A D LA
3. WAHLIESTEA S F LIS,
4, BEGIK, RIIEE QHPEEEI 5,
x 2
e | EHE
WL ) D1 D2 D3 D4 D5 D bl b
R | B K
807132 " d14 | 20 G25 | d42 0 -0.62] 24 | 26
1607180 £ d14 | ¢20 | 26 | d31 | &35 |[H58 0 -0.74| 24 | 26
2007225 " K3 G20 | d26 | 32| H38 | d42 |72 0 -0.74| 30 | 32
2507280 " $25 | ¢31 | 36 | d45 | 50 [H90 0 -0.87| 36 | 38
3157355 - G40 | o646 | 50 | d56 | d64 105 0 -0.87| 44 | 46




ol = = (L)

E 3
T3HREREW
7.3. 1 LR ATHAT PO TG A, AT EER, WAV
> GRS “Ex” MBI AL S, HNASE B EhLET bR S0 ST & BRI AR B Y
R
> AR ER O R, SREIETCRR, PR TCA EA R E  .
> T BB AR AT IO R B S bR M I RE AR SR (CORAE B AL AS AT AR ) o
T.3. 2 WA T, MAEK TG H RS, ALERMIER.
7.3. 3 R A E T AR DR ARG B A ARE R GRS R
T3 4 RAESMEEREERTIER, B EE S, R R AR TR
7.3.5 FBHHLE AR BT )
> WRAE LI RN, R, IR Rt g,
> RN, BTSN BT SRR B R AR ], R 2 N B TR R AT ) 5 R
Rl 0], JENIATRERERE, DAORAIES i 58 45 A U TRI B A 5 22
> BASEHSE, MRESNALR. KA. ARG IR o E K B LR M 1
MUE, B E TR T AR ek i
> GINELRM L, MR EEEERg & £, DAk g kbt .
> BHLEW S, AR, OB RET i, DL RBENL, B E, fHEShE

2l
> IR VER RS, WRSR A B Eh i, B ML AR S Fe R 5 R B AP 5
EAN

> N TR SRS RE I A, RSN T SRVFESLR S IR, RS AR
B AR T bmin, EHGE TR VRS —R. WRIE T ERE ) N SR R ilE L% H G
Ji ] AT .




8 RFESHI(E

8. 1 NN E SRS BRI v, AR AR HERR R4S, A9 7K Sk i i 4 F AL

8. 2 HEIHLIBAT I Bl R VP E A 95 °C (EEIHE) , HUKEIZIT 2500 /N (Z12E4E)
TR IR, QR I A VG A BT 20 R I S e, ST, UK R AN R T P R i A K
Hemi 25 B A . WARE BT, RV SRS e T, TEIE IR R R R 2 5 (GB/T
7324-2010) , il Ve yeh 56 FH S MDD N 1) LB 3, R BT LR 4.

8. 3 X TAFELE R NN, IR 2 AR LR e S 180 FF; fFMid L, EiiEik—
Bt a), A o R VR 0 A Y 5

8. 4 72 AL BN MLIN NVE B AR BE R HT » H8O0 ~ 132 HLIRE S i AL AT Sl AR 9 Ah 35 o R BB ML,
RGeS BB AR ) V7 RURRE PR, RS0 A 5 o ARO[ R, R S i G I A T
B AR . BEPCIT, A BRI R 4R 204-1 B EEJIE

8.5 HINLSZW 5, WA TR AL B JG 75 ISt F o T Mo A B ] SR R ML B0 B PR o FEME RS I R
TRE RLE T, (AR 145°C, FAE B kT Re,  OZEZM B B 72, Dok
RAEHMBIG . ) B TREERE, HBMAHERA 0.6 ~ 0. 8 5%l iR E N H

8.6 HGHIS, Zilid FESAHM A RSP M, M. R ISR, R A W 2R L
B R BT SR A 2 3 A AL T L R AL, DL BEAE A

8.7 BiEIMLAE . T, JUH LA HE AR N 1A RERRER AT 4EE . i,

8.8 HINLFRMRIH K FRR SR 5.

Z 3 i iB s B & 70 h0 e A &)

BLEE 5 e % MR (2) S E] Cho

Frame Poles Grease content (g) Re-lubrication interval (h)

2 20 4200

180 4 20 7000

6, 8 20 9000

2 25 3100

200 4 25 6500

6, 8 25 8500

2 25 3100

225 4 30 6200

6, 8 30 6200

30 2600

250 4 35 6000

6, 8 35 8000

35 2000

280 4 40 5500

6, 8 40 7500

915 2 30 2500

4,6, 8, 10 36 2500

355 2 36 2500




* 4

ML S W % A ity e Hh o
80 2 ~ 8P 6204-2RS 6204-2RS
90 2 ~ 8P 6205-2RS 6205-2RS
100 2 ~ 8P 6206-2RS 6206-2RS
112 2 ~ 8P 6206-2RS 6206-2RS
132 2 ~ 8P 6308-2RS 6308-2RS

2P 6309-2RS 6309-2RS
160 4 ~ 8P 6309-2RS 6309-2RS
2P 6311/V2 6211/V2
180 4 ~ 8P 6311/V2 6311/V2
200 2P 6312/V2 6312/V2
4 ~ 8P 6312/V2 6212/V2
2P 6312/V2 6312/V2
222 4 ~ 8P 6313/V2 6312/V2
250 2P 6313/V2 6313/V2
4 ~ 8P 6314/V2 6313/V2
2P 6314/V2 6314/V2
280 4 ~ 8P 6317/V2 6314/V2
i1s 2P 6317 6317
4 ~ 10P NU319 6319
155 2P 6319 6319ZV
4 ~ 8P NU322 63227V
=5
NS H80 ~ 100 H112 ~ 160 H180 ~ 355
L =>12.5 =>12.5 =>12.5
1 =8 =3 =8
ic <0.12 <0.12 <0.12
L =12.5 =25 = 25
ic <0.2 <0.2 <0.2
L =12.5 =25 = 40
m <0.2 <0.2 <0.26
=0.075 =0.075 =0.075
ic <0.3 <0.3 <0.4
L — — =12.5
=38
<0.

[\




UNPNAS J0JOA] | S1g

BEHFWED 1H
aurd wondunluod jooadawe) g ) — _ suyd
E@%%E B 1T i _T T Elﬂxﬂ% E_ uondunluoa

JIA0D DU FULIEI g u . .o _ ! N Q .::...:r..:.:__.._
mw o il 225 4 -
s E % ﬂw ..N_m...wu:mmq? Weys t 9

Surieag

. [l N]]

? _“g A0DYIP 1O ﬁtﬁ e _ [T1r 1] F % ﬁ Burieag

pl “. \.\ i

.\ :.W Em m% — A0

A2A0D
Wu.ﬁ ue,| F wmﬁ. pua Juod g
auepd

f———- \ JIA0D [BUIDIXD Bulieag A0
A0 uondunfuod
%%ﬁ m_w” M_. ua aeay @4&%% Wm_ Jooxdaurey

|

auppd
5 urj
12402 ﬁd\ﬁ%@_ onounfuoa Wﬁ o
b puy m_ Jooadawey g

HoHEY
ki

WA
¥

uondsunfuda d d
.::“E,.::n_.__ E{\m% @__ m ﬂ\m ﬂ

a Xoq
ey

auwpd

uonpunfuod

Jooadawey
Y




2IM)INI)S X0q [eUIWLIdY, 7 31

HEEHE 18

[uuny Xoq | Buiuea | dun Sunjeag Apoq Xoq [RUIHLLIAY, JIAOD [RUTILIAY,
FEHR\ BHA /ﬁi ] PL¥% /[ BORHY
w%ga

o

dun Suneay

T M ey (T

n|\\|\_:_=f \ \
BoAHY  Waey DHUSEF BHUSE ZFEHE 0 Bpl

auepd vopdunluod
1 ; * aumsip adedaaay auepd jooudaweyy prasyy ADA0D X0 duu-Q

aurjd uonounluovs

Jooadawey g

S2]04 [BUILIDL

F % #

areqy

HE Y

Jooadowey 4 [UTNREY )




We are truly grateful for your purchasing of Wannan Motors. Before using the motor, please

scan the QR code to read the manual so as to use and maintain the motor in a right way.

1. Summary

YBF3 series flameproof asynchronous motor for fan (frame size 80~355) are manufactured
according to the requirements of standard GB 3836.1-2021 “Part 1 of Electrical equipment used in
explosive environment: General Requirement” and GB3836.2-2021 “Part 2 of Electrical equipment
used in explosive environment: The Apparatus with the flameproof enclosure “d”. With Ex marking “Ex
db I Mb”, this series motor are suitable for driving fan or blower of fixed equipment (Ex db I Mb) in
coal mine (non-working face) where contains methane or coal-dust.

YBEF3 series motors are found to be in conforming to the requirements of standard JB/T
7565.5-2015“Specification of flameproof three-phase Asynchronous motor: Part 5 YBF3 series
flameproof three phase asynchronous motor for fan (Frame 63~355)”. MT451-2011 “General
specification for low voltage three-phase flameproof induction motor for coal mine” and GB 18616-

2020 “minimum allowable values of energy efficiency and values of efficiency grade for motors”

(Grade 3)/

2. Designation and types
YBFE3—-13282—-2

T Poles
Frame size for length

(second length of stator core in short frame)

Frame central height

3rd design

Fan application

Flameproof type

Induction motor

3. Operating condition

3.1 Not exceed 1000m above the sea level.

3.2 Ambient temperature varies as seasonal variation, but the temperature shall not beyond the
range -15C ~+35C .

3.3 The maximum environment relative humidity is 90% (when the ambient temperature is 25C )

3.4 Motor of 3kW and below: rated voltage 380V. 660V; Motor of 4kW and above: rated voltage
380V, 660V . 1140V, 380/660V. 660/1140V.

3.5 Motor of 3kW and below shall adopt Y connection; but the motor over 3kW shall adopt A
connection for single rating voltage motor; for motor of dual- voltage 380/660V, 380V shall be
connected as A, 660V as Y; when dual-voltage is 660/1140V, 660V shall be connected as A
1140V as Y.

10




3.6 Rated frequency: 50Hz.

3.7 The rating here refers to the continuous rating power on the basis of S1 operation system, the
motor allows direct starting.

3.8 The series motor is of F insulation grade, the maximum temperature rise for stator is 80K
(by resistance method), except for the motors of frame size 315/355 whose stator temperature rise are

allowed to be checked as 105K limit.

4. Main technical parameter and installation type

4.1 Main technical parameter see table 1

4.2 Motor installation type: IMB3, IMB30. IMB35

Table 1
Synchronous speed r/min
Frame 3000 1500 | 1000 750 600
Power kW

80M1 0.75 0.55 0.37 0.18

80M2 1.1 0.75 0.55 0.25

90S 1.5 1.1 0.75 0.37

90L 2.2 1.5 1.1 0.55

100L1 2.2 0.75

100L2 3 3 1.3 1.1

112M 4 4 2.2 1.5

132S1 5.5

13282 7.5 33 3 22
132M1 4
132M2 ) 75 5.5 3
160M1 11 4 B
160M2 15 1 75 5.5

160L 18.5 15 11 7.5

180M 22 18.5 - -

180L - 22 15 11
200L1 30 18.5
200L2 37 30 22 13

2258 - 37 - 18.5

225M 45 45 30 22

250M 55 55 37 30

2808 75 75 45 37

280M 90 90 55 45

3158 110 110 75 55 45
315M 132 132 90 75 55
315L1 160 160 110 90 75
31512 200 200 132 110 90
355S1 (185) (185)

35582 (200) (200) 160 132 ©0)
355M1 (220) (220) (185) 160 110
355M2 250 250 200 132
355L1 (280) (280) (220) (185) 160
35512 315 315 250 200 (185)

Note: 1. The models with bracket are not preferred recommended type.
2. The figures 1. 2 behind S. M. L refer to the different output power of the motors with the
same frame and speed.

11




5. Main Structure

5.1 Terminal box is on the top of the motor, with 3 or 6 connecting terminals. This series motor is
of rubber-sheathed cable wiring type. One grounding terminal in each connection box, on which there
is one outlet (M6 or below), or two outlets (M8 or above) (depending on its requirement). At the front
edge between connection box body and its cover an o-sealing ring will be fitted.

5.2 V-sealing ring is adopted at the rotation part of motor shaft.

5.3 The frame 80~225 Motors use sealed bearing, the motors of frame 250 or above are equipped
with on-the-go oil filling/discharging device.

5.4 Subject structure of the motor see figure 1, and the structure of terminal box see figure 2.

6. Explosion-proof highlight

6.1 The series motor highlights its explosion-proof feature. If the explosive mixture inside
the motor explodes, the motor shall not be damaged or deformed to the extent that may affect its
explosion-proof performance. The flame inside should not pass through conjunction plane to cause
explosion of the flammable mixture outside the motor.

6.2 Components of the explosion-proof motor (such as cover, bearing inner cover, connection box
cover, connection box body etc.) should be tested with 1.0Mpa static pressure for 10S+2. The motor
should be checked as qualified one if they won’t drip in or after the test.

6.3 The length of the explosion-proof conjunction plane, clearance, roughness of the surface, the
electric clearance between the bare conductors, the electric clearance between bare conductor and
metal casing all should be in accordance with GB3836.3.

6.4 Spring washer on fastening bolt can prevent the bolts releasing down from explosion-proof
casing.

6.5 Frame, end closure, bearing inner cover, terminal box cover, terminal box body, connection
bolt, terminal lugs (or connection board), bearing, rubber seal ring all are explosion components.

6.6 When rating operating, motor surface temperature must be lower than +130°C when used in
coal mine, or lower than +150°C if there was coal dusty on its casing. Temperature at cable inlet shall

be no higher than the cable allowable temperature.

7. Installation and operation

Warning!
Motor cover is forbidden to open with power on.
Handle the motor with care.
Strong fall, impact, vibration will heavily damage bearing or explosion proof
components.
Fasten onto the lifting hook tightly if the motor is moved by the crane.

12




7.1 Inspection

7.1.1 Check the appearance of the motor to see whether it is in good condition, and check the
nameplate to see whether the data is conform to actual requirement.

7.1.2 Check whether motor has explosion-proof mark, explosion-proof certificate Number.

7.1.3 The explosion proof components are connected correctly and tightly.

7.1.4 There should be neither crack on explosion proof component nor defect that affects the
explosion proof performance.

7.1.5 Check the cold insulation resistance of the stator winding, and ensure that the resistance

value should be no less than 20MQ.

Warning!
The series motors are only for non-working face application. Any question discovered

during inspection, contact with us or consulate technician.

7.2. Installation

7.2.1 Motor should be installed by technician.

7.2.2 Spring coupling ought to be used to drive the motor.

7.2.3 Keep the shaft center of the motor at the same level with that of driven machine

7.2.4 For the motor with feet, all the feet should be fixed to sound and flat plane.

7.2.5 Power wires should be neither too thin nor too long.

7.2.6 External diameter of the cable should fit bore diameter of the seal ring. The min diameter of
cable is D1, max D35, seal ring is of rubber XH-21, specification and dimension see table 4(concentric-
ring of seal gasket can be stripped off to fit inner diameter of incoming cable). The diameter gap
should not exceed Imm. Clamp the connection plug and ensure that there is no clearance between seal
ring and power cable as well as between seal ring and connection box body, otherwise the motor will

lose its explosion-proof function.

(")

e

U]
De
[
D4
D

13




Table 2

Frame size | C°0° | Sealing| DI | D2 | D3 | D4 D5 D bl | b
entry
80~132 0l4 | 20 025 | 942 0-0.62 | 24 | 26
160~180 ol4 | 020 | 926 | 931 | ¢35 | ¢58 0074 | 24 | 26
Rubber .
200225 | 10| Fig3 | 020 | 926 | 932 | 038 | @42 | 972 0-0.74 | 30 | 32
250~280 025 | @31 | ¢36 | 045 | @50 | ¢90 0-0.87 | 36 | 38
315~355 040 | 046 | 950 | 956 | @64 | 9105 0-0.87 | 44 | 46

7.2.7 The lead-in cable core should be attached between arched washers, and thorn on the
cable corn can’t be protruding. Prevent the cable corn from damaging when pulling it out through
the bonding hole. The lead-in cable shall be fixed by connection board on arched washer to avoid
movement.

7.2.8 To fit different supply voltage, different connection method should be chosen. For the
connection box which has 6 terminals, connection way can be changed by connection strap. As one
multi-core cable is introduced into one of the inlet holes, the head plug of the other unused hole can’t
be removed; otherwise the motor will lose its explosion-proof function.

7.2.9 U. V. W phase sequence of the motor should match A. B. C phase sequence. Shaft
rotates clockwise from the view of DE.

7.2.10 Internal and external grounding screw bolts need to be connected to ground.

7.2.11 Check the motor first and do not power on until the motor has been confirmed to be no
problems, and then conduct no-load running test. When all runs smoothly the motor can be put into

load operation.

Warning!

1. Supply voltage fluctuation should not go beyond the range+5% the rated voltage.
2. Ground wire must be connected

3. Turn off the motor when abnormal problem occurs.
4. Keep the person and clothe away from the rotation part.

7.3 Notes
7.3.1 Inspect the following items, and guarantee all requirements are fulfilled.
> Check Ex marking and ex-proof license No., guarantee the ex-proof grade is consistent
with application atmosphere gas requirement.
> Check and guarantee all the fastener bolts are tightened, spring washers fixed, and ex-
proof components are well-connected.

> Check and guarantee all flameproof components are without crack or defects which

14




may affect their flameproof performance (Unused new machine is not allowed to be
dismantled).
7.3.2 Rotate shaft or rotor to see whether the rotation is flexible and free.
7.3.3 Inspect stator and bearing RTDs and alarm system
7.3.4 Check the three-phase power supply and guarantee the voltage is proper and balanced.
7.3.5 Power connection matters
> Choose proper power cable according to motor’s current and application condition.
> Put cable core between two bow gaskets or connection strips, guarantee the grounding
core cable are put between grounding bolts and bow washes, well fixed.
> When connecting is over, check and guarantee no impurities or dust in terminal box, right
connection method is chosen following nameplate or manual, and then close terminal box
cover.
> The power cable need to be well fixed onto terminal box.
> Cut off electricity supply immediately if the motor cannot work when switch on.
> Motor can be started at full voltage or reduced voltage. As torque is proportional to voltage
square, the torque will be reduced when the motor is started at reduced voltage
> The series motors are allowed to continuously start twice in cold condition with interval
no less than 5 minutes; or one start in heat condition. (NOT Restart until motor is

completed cooled). Otherwise the motor may overheat or even burning.

8. Maintenance

8.1 Examine and clean the motor periodically, ensure that no dust accumulate on the casing.
Spraying with tap for cleaning is not allowed.

8.2 Bearing permitted temperature should not exceed 95°C during its operation (by thermometer
method), the motor should be examined at least once for every 2500-hour operation (approximate half
a year). Bearing lubrication grease should be replaced when it is found to be spoiled. Before that the
waste grease at bearing external cover, storage box, grease discharging device including oil tube and
oil cup should be cleaned up, and clean the bearing with machine oil. No.2 lithium-base lubricating
grease for small medium size motor is recommended. re-grease duration and grease mass see table 3,
bearing type see table 4.

8.3 Turn the shaft by 180° with hand every 2 month for the motor which has been stored half year;
the motor need to work for a period of time to make the lubrication grease equidistribution when the
motor has been stored longer than half year.

8.4 Take care of the explosion-proof plane if the motor need to be dismantled. Frame H80~132

15




Motors have no internal and external shaft cover, so windshield should be removed at first, then
remove the V-shape shaft sealing ring, knock down the fastener on front and rear end closure, and
take out rear end closure together with the rotor and fan. Explosion proof plane of the motor has been
painted with 204-1 rust protection grease when assembled.

8.5 Motor must be dried before use if the motor has been affected with damp, either by means of
drying in the oven or short-circuit current. If dried in the oven the temperature should be increased
gradually but not exceed 145°C . And when the motor adopt short-circuit method, it should be connected
as short circuit whose input current is 0.6-0.8 times rated current. However the short-circuit method is
not suitable if the motor is heavily damped, since it may cause the electrolysis.

8.6 When the winding need to be changed, please keep such data as the type size, wire gage,
number of turns of the original winding firmly in mind. Contact us and ask for the date in case they
are lost. Winding should not be optionally changed, otherwise some of the motor’s properties may be
deteriorated and even affect its running.

8.7 Explosion-proof components should be repaired, replaced, tested by technician following
relevant technical standards.

8.8 Flameproof surface parameter see table 5

Table 3 Lubrication Grease Content and Lifespan

Frame Poles Grease content (g) Re-lubrication interval (h)

2 20 4200
180 4 20 7000
6,8 20 9000
2 25 3100
200 4 25 6500
6,8 25 8500
2 25 3100
225 4 30 6200
6.8 30 6200
2 30 2600
250 4 35 6000
6,8 35 8000
2 35 2000
280 4 40 5500
6,8 40 7500
2 30 2500

315
4,6,8,10 36 2500
355 2 36 2500

16




Table 4

Frame Poles DE Bearing NDE Bearing
80 2 ~ 8P 6204-2RS 6204-2RS
90 2 ~ 8P 6205-2RS 6205-2RS
100 2 ~ 8P 6206-2RS 6206-2RS
112 2 ~ 8P 6206-2RS 6206-2RS
132 2 ~ 8P 6308-2RS 6308-2RS

2P 6309-2RS 6309-2RS
160 4 ~ 8P 6309-2RS 6309-2RS
2p 6311/V2 6211/V2
180 4 ~ 8P 6311/V2 6311/V2
2p 6312/V2 6312/V2
200
4 ~ 8P 6312/V2 6212/V2
2P 6312/V2 6312/V2
22 4 ~ 8P 6313/V2 6312/V2
2P 6313/V2 6313/V2
230 4 ~ 8P 6314/V2 6313/V2
2P 6314/V2 6314/V2
280 4 ~ 8P 6317/V2 6314/V2
2P 6317 6317
315
4 ~ 10P NU319 6319
355 2p 6319 63192V
4 ~ 8P NU322 63227V
Table § mm
Frame H80 ~ 100 H112 ~ 160 H180 ~ 355
L >12.5 >12.5 >12.5
1 >8 >8 >8
ic <0.12 <0.12 <0.12
L >12.5 >25 >25
ic <0.2 <0.2 <0.2
L >12.5 >25 >40
<0.2 <0.2 <0.26
k >0.075 >0.075 >0.075
ic <0.3 <0.3 <0.4
L — — >12.5
1 — — >8
ic — — <0.2

17




UNPNAS J0JOA] | S1g

BEHFWED 1H
aurd wondunluod jooadawe) g ) — _ suyd
E@%%E B 1T i _T T Elﬂxﬂ% E_ uondunluoa

JIA0D DU FULIEI g u . .o _ ! N Q .::...:r..:.:__.._
mw o il 225 4 -
s E % ﬂw ..N_m...wu:mmq? Weys t 9

Surieag

. [l N]]

? _“g A0DYIP 1O ﬁtﬁ e _ [T1r 1] F % ﬁ Burieag

pl “. \.\ i

.\ :.W Em m% — A0

A2A0D
Wu.ﬁ ue,| F wmﬁ. pua Juod g
auepd

f———- \ JIA0D [BUIDIXD Bulieag A0
A0 uondunfuod
%%ﬁ m_w” M_. ua aeay @4&%% Wm_ Jooxdaurey

|

auppd
5 urj
12402 ﬁd\ﬁ%@_ onounfuoa Wﬁ o
b puy m_ Jooadawey g

HoHEY
ki

WA
¥

uondsunfuda d d
.::“E,.::n_.__ E{\m% @__ m ﬂ\m ﬂ

a Xoq
ey

auwpd

uonpunfuod

Jooadawey
Y

18




2IM)INI)S X0q [eUIWLIdY, 7 31

HEEHE 18

[uuny Xoq | Buiuea | dun Sunjeag Apoq Xoq [RUIHLLIAY, JIAOD [RUTILIAY,
FEHR\ BHA /ﬁi ] PL¥% /[ BORHY
w%ga

o

dun Suneay

T M ey (T

n|\\|\_:_=f \ \
BoAHY  Waey DHUSEF BHUSE ZFEHE 0 Bpl

auepd vopdunluod
1 ; * aumsip adedaaay auepd jooudaweyy prasyy ADA0D X0 duu-Q

aurjd uonounluovs

Jooadawey g

S2]04 [BUILIDL

F % #

areqy

HE Y

Jooadowey 4 [UTNREY )

19




WERRP:

BERBAMERIZEBINE, [ERERMEFENVL, FPEATREME. RIEAIRS

ERMYUERIRES, BNBEAARKBESRHNEKR, HMIBERNEFERERE, BEH4AR
FRIEBGBRIF(IRE, LMEIIS0HE, AERMMLER. RERRS

LR BRI B IR RN BT AN (E AR B B IR E RZ BN

BOERSZFRREZHEEENRODERADPEFINBER TEE=Z0EH. QMmEEERNE
FiIZBABREA .

Dear user,

Please use and store the motor right following the instruction of the manual. We will make our
effort to provide you with high—quality and prompt service. Contact us if you had any questions
in application, and we will offer you timely and effective resolution; let us know if you had any
advices or suggestions, with which we can improve ourselves and make service better. Anhui
Wannan Motor Co., Ltd. reserves the right of final interpretation of the user manual. No copy,
disclosing or using of the content of this user manual to third parties prior to written permission
from Anhui Wannan Motor Co., Ltd.

ZRIZFAEBEIRODERAE

Anhui Wannan Electric Machine Co.,Ltd

it 2HERER)IEFEEE 86 =

Address: No0.86 Nanhua Road Jingxian County Anhui Province P.R.C
fHEL Sales department: 400-111-0563 0563-5031908 5031988
EF RS0 Customer service center: 0563-5031953

A EEL Enterprises management department: 0563-5031954
BEE#IEL Quality inspection department: 0563-5031910 5031985
fEH2 Fax: (0563) 5029999 5023698

It Website: http://www.wnmotor.com

E-mail: wndjc@wnmotor.com
BR4%s Postal code: 242500

AHBABASTNEE, BASBTEM.
Content in the manual may be changed without prior notice.



